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1x12=12

(i) The conclusion of an induction follows nec
premises.

() Perfect induction
A St
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(1) Analogy
A=iraeT3 eyl
(iii) Colligation of facts

O] HHIE

(iv) Induction by parity of reasoning

& SApeiniagang

(© “All men dEe sreligions. > & Is this Proposition analytic or
synthetic ?

IR Wi 5 i G2 A FRigwss o BN

d) e SCatise A effect are events initime " — [sit quantitative mark

of causation ?

PR S T TG R sgws RES o} > CE e CC P = R
ST B (o

(€) Which of the following Statements ig correct ?

FTIe ool Bfs w2
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(it) Obscrvation gucceeds 'expeﬂmcnt.

E e g AR fo{@s |

from the effect Lo the

(iii) In an cxpcriment, one cannot pass

causc.

Tl g €l e Fe BE A Deipill

[k ilt in the blank :

il o7 7idel <+ 2
tion is said to commit the fallacy of

Mill's paradoX of induc

g) Which of the following is correct ?

e ol YA Y

@ Direct yerification of & hypothesis can be done by obscrvation

only.
aae] S Gl @ AFH oo TS zfa AR
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(i) Direct verification of a hypothesis can be done by observation

or experiment.

(I 2R P oo [ g A]RrER wlE SR Al

(i) Direct verification of a hypothesis can be done by experiment

only.

@ AT AR @IE 4EE A9 et $RE1 Al |

(h) Does the method of residues require previous knowledge of the

cause or effect for its application ?

AR et s AR R A PR FRA SR T (2

() Name the experimental method which is based on the following

canomn

“Nothing is the cause of a phenomenon which is known to be the

cau'se of a different phenomenon.”
Reere AAEGR So® AT THET deNeTioR i forl ¢

“ (I 51 o T RIS iR IR S I, (ST e T o i iR
29 @RI
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() “The method of agreement is a method of experiment and the

method of difference is a method of observation.” — Is it correct ?

s welleT] AT 2elET S O el et deliet 1”7
—— P GH 2

() Who did introduce the “theory of pre-established harmony”?

“sl{gif*Ie =gl IoIM” (theory of pre-established harmony) (Bl (I
SIoRpIRRE 2

() Who is regarded as the father of modern philosophy ?

syl i fore g ST @Rl &

2. State any two similarities between scientific induction and unscientific

induction. 2

I S S SRR S e A R 7h A Srerd |

3. Define analogy with suitable example. ° 1+1=2

TogE TAEPTE AT SR e |
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Define efficient cause with an example. 1+1=2

TniEgeTE fifste wsier Hees) g

Briefly explain positive condition with the help of a suitable example.

2

UYE TriEeT FRTe ST A ML Tolie = oy A sisRepRT
Oor / 723

Briefly explain negative condition with the help of a suitable example.

2
TS THIRAe QTS elfege 1 weedls BormeR Rac O <UIRT SSRCpHET |
What is a crucial instance ? 2

b GBI A [effEes 1R Wie e

Briefly explain any one condition of a valid hypothesis with the help

of a suitable example. ) 2

%WW%WN%W@W&WF@WWWI
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8. What do you mean by analogical hypothesis ?

mmm%azﬁw%g@?

9. Why are the inductive methods called “Methods of elimination” ?

SIS 7 (SN2 Sy “TPPREE AR QT Y

10. What do you mean by realism ?

reeam e & g@l?

11. State two points of difference between realism and jdealism.

Wmmﬁﬁﬂwwﬁvﬁ@mﬂwl

12. Explain the etymological meaning of the word ‘Dharma’.

oo SR FPeeTS il it
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13. Mention two points of difference between religion and morality. 2

1l wllge (feTeR Mere 4@ 75!+ Trme 341 |

or / 733

Mention any two characteristics of religion. 2

{4 Ricie 757 [R*E e 4 |

14. State two similarities and two dissimilarities between analogy and

scientific induction. 2+2=4

HIETETR Sl S (R Sas WerS =6 767 A e 757 (Nl S

<4 |

15. Briefly explain, with example, any two rules on which the value or

strength of an analogy depends. 2+2=4

AT SRR o0 [ IR0 20 A SRETRN R 75 [ ToRe
iR S Il
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16. Explain with example the quantitative mark of cause from the
standpoint of the law of the conservation of matter and energy.

4
vy S < SRR e RS TS SRR SR S{fRETielTe T

AR T 3

or / 7=

Explain the relation between cause and condition with the help of

suitable example. gk

%WW%qum%W%Wmmml

17. State two advantages of experiment over observation and two

advantages of observation over experiment. 2+2=4

SR wERIe AR 750 R S AR oS R 7o) A e
el

18. Distinguish between hypothesis concerning agent and hypothesis

concerning law with the help of suitable example. 4

@WW%WT@WW@WWWWWWWQﬁW
fipis 11
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19. Briefly explain the four stages of a hypothesis. 4

AP W BIIS0! B Wi |

Or / 733/

State four uses of hypothesis. : 4

PSS BI/F0) UG Tol S 9 |

20. State two advantages and two disadvantages of the method of

agreement. 2+2=4

SE] el 75 A e 76 SeRd Sramd 4 |

Or / 723

State two advantages and two disadvantages of the joint method of

agreement and difference. 2+2=4

R SEd oDl daamT 707 g e 757 SRy T 41 |
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21. Briefly express four points of criticism against naive realism.

4
S5 qEEAE BEca bIfR5! FHICADA Bie A T |
or / Mz
Briefly express four points of criticism against scientific realism. ;
4

G ARV Rem bIfRG TS DL e Bl |

99. State any four points of difference between primary qualities and

secondary qualities. ' 4

BRI IIES cﬁ@@ﬁmmwﬁmﬁmﬁﬁfﬂwm@%@w

23. Briefly discuss the nature of ethics. 4

Ffstwr 2P a1 A TE ST S F9 |

or / A
Briefly discuss the scope of ethics. 4
Sfemie «RF" T 5N SCED 1
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i Why is the method of concomitant variation considered as a modified
: version of the method of agreement and the method of difference ?
Explain. _ 3+3=6

ﬁi—ﬁ%ﬁﬁﬁﬂfﬁa%ﬂ@ﬁ?%ﬁ%ﬂ%@%ﬁ%ﬁ:ﬁﬁ@@ﬂﬁww
=7 YR 4] |

Or / ¥/3<

Define the joint method of agreement and difference in your own
words and give a concrete example of it. Why do some logicians regard
this method as “the method of double agreement” or “the double
method of agreement” ? Explain. 2+2+2=6

25. What is Berkeley’é subjective idealism ? Briefly express four points of
criticism against this type of idealism. 2+4=6

ISR WD wRA R AR AP SRAE Rera Beifs BIRGI B 557
2P 35 |

Or / Fz=
Critically discuss objective idealism of Hegel. 6

@WWWWWWWWJ
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26. Does the end justify the means ? Give a reasoned analysis with the

help of concrete examples. ' 6

A AN O AT AL T ﬂﬁm?%mmwﬁm@ﬁﬁ

e SNSR_GIET |

or / 723

Briefly explain any three purusarthas. 2x%3=6

Rz oy »Faid] a5 T4 SR |

27. Explain the nature of religion. 6

gilq 2Rplo A Fwe A=A i 9|
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Or / 7z
Critically explain any one of the following views : 6x1=6

W@WW%@W@WWWWWWW@!

(il Religion is the source of morality.

3 tarw (Ao T |

(i) Morality is the source of religion.

sl Care i Be |
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